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1. R 2007 HEA WRAr WA HoE ST wral ST SO e,
(1) IROTEeo (2) FH H
() (4) T
The satellite launched by India in September 2007 will be used for
(1) Communication (2) Agricultural Research
(3) Land Measurement (4) Reconnaissance
2. =W 1857 =41 ST AfiTe WO T B
1) Teg-g=m ) we-frE
(3) Im-giEm (4) grelr-TTEt
The special feature of the ‘Revolt of 1857 AD’ was the unity.
(1) Hindu-Muslim (2) Maratha-5Sikh
(3) English-Muslim (4) English-Maratha
3, 1907 wed, wee wd A o ad T R T
(1) e fommes

(2) ST AfeTRIAT

(3) W I Wt e Hew

(4) THATHA

In 1907, Maharshi Karve established the institution at Hingane.
(1) Mahila Vidyalaya

(2)  Anath Balikashram

(3) Maharashtra Gram Prathamik Shikshan Mandal
{4) Samata Manch

W STAT S B,

(1) =E= (2) =

(3) HEE (4) i RO A

Family Planning programme was intensively implemented during five year
plan for controlling growth of population in India.

(1) 4 (Fourth) (2) 5t (Fifth)

(3) 6t (Sixth) (4) None of these

AT /AT S / SPACE FOR ROUGH WORK
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5. A $H. 1909 79 e weraer St A T FHer,
(1) TEH 9" (2)  rd FFR
3) ydaT (4) =g
assassinated Jackson, the collector of Nashik in 1909 A.DD.
(1) Khudiram Bose. (2) Anant Kanhere
(3) Bhupendranath (4) Barindra Ghosh
6.  IATHd Wi YTt Y Hiv e ?
(1) ey afywd (2) GV
(3) YEHwEmR eIfyert (4) Y-\t
Who is the administrative head of Panchayat-Samiti ?
(1)  Block Development Officer (2) Speaker
(3)  Chief Executive Officer (4)  Deputy-Speaker
7. TR RETAS S0 SRR Fehe R gee Fraed s ?
(1) 226 (2) 238 (3) 225 {4) 228
How many members are elected to the Rajya Sabha from the States as well as Union
Territories together ?
(1) 226 (2)y 238 (3) 225 (4) 228
8. 657 —(16)* =72
(1) 49 2 63 (@) 144 (4) 45
9. TEHINE FAE FRdt 9 oRwm ?
(1) 250 (2) 200 (3) 552 (4) 252
What is the maximum strength of the Rajya Sabha ?
(1) 250 (2) 200 (3) 552 4) 252
10. T 999 (T wE) e aifudem JY W BN,
(1) Hw (2) e (@) = (4) fewedt
The first session of National Congress was held in .
(1)  Mumbai (2) Kolkatta (3) Chennai (4) Delhi
11 6.27 5. @ aTR arre for) ade et @ @ s e i} 2

(1) 01m (2) 1.0m (3) 314 m (4) 0.0314 m
A wire of length 6.27 m is bent to form a circle, then what is the radius of the circle ?
1) 01m (2) 1.0m 3) 314 m (4) 0.0314 m
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12. ‘wiedt ofe s fafew == g7 sfem’ = Uy ol fofean 7
(1) =Ry T (2) SR St
(3) Tewderemer Hed (4) TR HAH
Who wrote the book “Poverty and Un-British Rule in India’ 7
(1) Justice Ranade {2) Dadabhai Naoroji
(3) Firozshah Mehta (4) Swatantryaveer Savarkar
13. e TIva=s TermH! e o1 WA WA TR wdt wdet el
1y forez fH (2) wfew fan
(3) T T (4) TdErfEm
Name the hockey player, who was banned for three matches in opening match of Hockey
World cup.
(1) Shivendra Singh (2) Sandip Singh
(3) Rajpal Singh (4) Gurindar Singh
14. Ti-fHE guron wrEE &7 4 AT
(1) =91 1909 (2) 3.4 1911 (3) 3.49.1919 (4) 3.9 1935
Morle-Minto Reforms Act was passed in .
(1) 1909 AD. (2y 1911 AD. (3) 1919 A.D. (4) 1935 A.D.
15, STYFF FadTAH (Biotechnology) el ®F .
(1) wfed @ @ w1 (4 e
Modern Biotechnology works on level.
(1) Colloidal (2) Atom (3) Molecule (4) Substance
16. o TS faveETee ST e T w2
(1) ¥ qrEmE (2) BI. =E S
(3)  MER IR (4) HESH TER
What is the name of the President of Second World Marathi Sahitya Sammelan ?
(1) Mangesh Padgoankar (2) Dr. V. B. Deshpande
(3) Gangadhar Pantawane (4) Dhananjay Datar
17.  deEmEd U6 ek HiS R R ?
(1) =T wEE ) Toee aftog
(3) R wiferRt (4) T d=EEE
Which is the lowest tier of Panchayat Raj Institutions ?
(1) Panchayat Samiti (2) Zilla Parishad
(3) Municipal Council (4) Gram Panchayat

ol HIHMESt W / SPACE FOR ROUGH WORK
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18. WA o IUEHd i frog EZGIEN
(1) UHYeEd T (2) TR
(3) UmHTH (4) TefamE efyeTd
The Sarpanch and the Deputy - Sarpanch are elected by :
(1) Members of Gram Panchayat (2) Gramsabha
(3) Gramsevak (4)  Block Development officer
19. TR GEwdter Felid ofie oo SNTE] HensId e faeam o
(1) Feyg @ s (3) wenfw (4) s
In which district of Maharashtra the longest railway tunnel in Asian continent is
located ?
(1) Sindhudurg (2} Raigad (3) Ratnagiri (4) Thane
20. Wl %A =T fermie fasmmaet wiven faemdtart o il e,
(1) 1893 {2) 1907 (3) 1910 (4) 1916
The Women’'s University for the female education was established by Maharshi Karve in
(1) 1893 (2) 1907 (3) 1910 4) 1916
21, I R FoRt G e ?
(1) VTt et (2) et fafdet
(3) e 4 dRhIw
Which scheme was rejected by the Cabinet Mission Plan ?
(1) Partition of India (2) Creation of Pakistan
(3)  Both (1) and (2) (4) Neither of them
22, UST SErE Yol IO HiTT TR 3T 3118,
(1) =R (2) TS (3) STafE (4) HEE
Which animal is declared as National aquatic animal ?
(1) Crocodile (2) Hyppopotamus (3) Dolphin {4) Tortoise
23, 'St gEEa 101 feaq’ ® e i fafeet ?

(1) @Ay feas (2)  TITes MITT PR

(3) AT TS (4) Toommsh et

Who wrote the book ‘Dongarichya Turungatil 101 Divas’ ?

(1) Lokmanya Tilak (2) Gopal Ganesh Agarkar
(3) Justice Ranade (4)  Vishnushastri Chiplunkar

AT HIHHIG AT / SPACE FOR ROUGH WORK
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24, IS W TRRTE N faete A% IR
(1 " @ T (3) TR (4) TR
Yashwantrao Chavan Maharashtra Open University is at .
(1) Mumbai (2) TPune (3) Nagpur {4) Nashik
25. WG JeAE G g =Ter fHeevaraTE! Fei M1 TR FI0AR ST
(1) (2) wEErd (3) FRER (4) @M
In Seventh Five Year Plan for the purpose of development new plan has been
introduced.
(1) Agriculture (2) Fishing (3) Industries (4) Mining
25 125 36 | 64
LoERd S xS+ =+ — =
26 5 10 12 32
1) 6.75 (2) 0.675
(3) 67.5 (4) Tt THE T
25 125 36 64
x4y 4 = =
Solve 570 "12 " m
1) 6.75 () 0.675
3y 675 (4) None of the above
27. T RS et S SISt qdareA T HTe.
(1) foieg wela o (2) WEYS TEd M
(3) W@ WA UM (4) S wEd U
Oldest fold mountain range in India is .
(1) Vindhya Mountain range (2) Satpura Mountain range
(3) Aravalli Mountain range (4) Sahyadri Mountain range

28. Tt B HIORHE WFHT U0 3T ?

(1) wigEd (2) wmERRRS (3) TITHBRI (4) FAVERR
Elephant belongs to class :
{1) <Carnivorous {2) Herbivorous (3) Insectivorous  (4) Omnivorous

29, HERTST v THeamd et Hidn aded ?

(1) «f&m (2) =R (3) FIAHIS (4) Temfird
In which district of Maharashtra cecal is found ?
(1) Bhandara (2) Chandrapur (3) Yavatmal {4) Ratnagiri

THTAT HIAES IMM / SPACE FOR ROUGH WORK
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30, HOEE Hv fagA A ?
(1) T (2) TETR 9% qaeR
(3)  IMYEEE S (4) FUA e
Who is electing Sarpanch ?
(1) Gram Sabha (2}  Adult voters of the village
(3) Member of Gram Panchayat (4) Al of these
31. ‘SR HET E A ?
1)  &ere (2) rTEED (3) weH VS (4) 3T
‘Brahmos’ is the name of .
(1) Missile (2) Submarine (3) Fighter Ship (4) Satellite
32. 'WENIS WA wgeR’ oW ST W W ?
(1) vihfeaamRT (2) foorureh 94
(3) SNy YEES (4) HERH Gl
Who is known as ‘Martin Luther of Maharashtra’ ?
(1) Lokahitawadi (2) Vishnushastri Pandit
(3) Jagannath Shankarsheth {4) Mahatma Phule
33. WA 150 WISTYHT 12% FS AN &lRd. OF I T YRt et 2rs amig ?
(1) 132 (2) 138 (3) 18 4) 24
Of the 150 trees in an orchard 12% are mango trees. What is the number of other kinds of
trees in the orchard ?
(1) 132 (2) 138 (3) 18 4 24
34. Iy d9AIfe A TOUEd S TN 39 918 SLETIR 3T STR.
(1) 7% 2) 8% (3 9% 4) 10%
Eleventh Five year plan targets an average GDP growth of :
1 7% (2) 8% (3) 9% 4 10%
35. 0.005 ¥ SHRN 3 STYUTihia femer.
1) — 2) = 3 2 4 =
M 10 @) 100 @) 10000 ) 1000
Write fraction form of 0.005 :
y 2 y = SR
1) 10 ) 100 ®) 10000 @ 1000

HEAT HIHTHS ART / SPACE FOR ROUGH WORK
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36, 2008 a1 SUTH Favergedl STEAT TSN RV S AT 91 7
1) wE (2) =AgUE @) fa=A (4) Hfega
Dayana Mendoza who was adjudged Miss Universe 2008 is citizen of :
(1) India (2) Venezuela (3) DBritain {4) Mexico
37. 1HP.= .
(1) 746 W (d2) (2) 36x10°]/s (3) 1000 W (32)  (4) 1000 erg/s
1 HP.= : \
(1) 746 W (2)  36%x10%]/s (3) 1000 W (4) 1000 erg/s
38. I =1 Tareresten Q@A (Fr0) 2 =,
1) = (2) WA (3) HeigH 4) T
Degradation of in food is called putrefaction.
(1) Fats (2) Proteins (3) Carbohydrates (4) Pectins
39. STAMUE 2009 T fasmET 9 S0 2
1) o v (2) TR YA
@) =% g = (4) SHE IS, TEER
Name the winning team of IPL-2009 tournament.
(1) Mumbai Indians (2) Rajasthan Royals
(3) Chennai Super Kings (4) Deccan Chargers, Hyderabad
40. TSR TredEr IThgd SEUHS FH .
(1) TSI, B, SRS, @
) <, T, TS, dE
(3) T, TS, TS, @
(1) @, sETs, e, Tl .
Arrange the creeks in Kokan from North to South direction.
(1) Rajapuri, Dabhol, Jaigad, Terekhol
{2) Dabhol, Rajapuri, Jaigad, Terekhol
(3) Dabhol, Jaigad, Rajapuri, Terekhol
(4) Terekhol, Jaigad, Dabhol, Rajapuri
21, = IR AATHUAI Y Mo AT A5 T EHET.
(1) TR (2) TEIE (3) e (4) eFmER
Dr. Babasaheb Ambedkar with his followers embraced the Buddhism at .
(1) Nagpur (2) Mahad (3) Nashik (4) Aurangabad

FHoET HOEIS S / SPACE FOR ROUGH WORK
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Tl W HESTA 1920 Fredt Y I TRV W qfmes seasg
e,
(1) TS (2) wITEE C(3) ST (4) AT

Rajarshi Shahu Maharaj was the President of Non-Brahmin Social Conference in 1920 at

(1) Hubli (2) Kolhapur (3) Belgaum (4) Mangaon

43,

T UIOAE TH S 9 ann 15 TR oR. W 6 9 45 fufterm vawem faes el
45 TR oY, 15 yemer=an ¥ a4 9Nl AR, T weeT=n 3w,

(1) sfed/amt  (2) efwd/amft (3) ofmd/amt (4 3 fEA /AR
Speed of the boat on calm water is 15 km/hr, the boat comes to original place after 6 hrs

45 min travelling 45 km distance in the opposite direction of water flow. Find speed of
water flow.

1) 5km/hr (2) 6 km/hr @) 9 km/hr (4) 3 km/hr

44,

it QM A TRl STy waeEE aids 9em s g e
AT Y99 3ufeerd e,
(1) WF (2) <t (3) 3wE (4) W

Madam Cama raised the question of India’s independence at the International Socialist
Conference held at Stuttgart in

(1) France {2) Germany (3) England (4) Greece

45,

T YT derre ged 3 o B 2

(1)  sieifreTo C(2)  H fow

(3) frmie = (4) =0 ey

Which was the main objective of the Second Five Year Plan ?

(1} Industrialization (2}  Agricultural Development
(3) Increase in Export (4) Construction of Dams

46.

WITd TR T YT HErTR T vt 390 Feft o7 2
(1) T (2) THF. THEU
(3) et WS @) f¥ T

Who among the following has been appointed the National Security Advisor by the
Government of India ?

(1) Brijesh Mishra (2) M. K. Narayanan
(3) Soli Sorabji (4) T.K Nair

THoedl HIATEIE ST / SPACE FOR ROUGH WORK
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47. A _ T AT el R Te SeEA B
1) wARE (2) AHSTY 3y g (@) =
The State of is the largest producer of Rubber in India.
(1) Karnataka (2) Tamilnadu (3) Tripura (4) Kerala
48, T TR SR 1 . asEs 900 WH A9 ATOEL B FHAUR A HehSl TH el
1y 9% (2) 10% 3 1% (4) 100%
A dishonest trader uses a 900 gram weight instead of a 1 kilogram weight. Find the
percentage profit due to this cheating. '
1) 9% (2) 10% 3y 1% (4) 100%
49. TS ¥TE HEWIS Hes e i 2
(1) TwEaE (2) WA
() e (4) SIcTdeRt IR TRl
What is the original name of Rajarshi Shahu Maharaj ?
(1) Yeshwantrao (2) Prataprao
(3) Shivajirao (4) None of the above
50. NG QLRI TEEfter T 2007 TIATIEA 2012 |iemedd SR SR SR,
(1) SRyt (2) <EwE (3) dAUE (4) HeRwEt
five year plan of Government of India will be implemented from the year
2007 to 2012.
(1) Eleventh (2) Tenth (3) Thirteenth (4) Fifteenth
51. SFRE YuEides AeTd U SRR G e gHifee Samaer fuifa ser
3.
(1) 10.5% (2) 303% (3) 50.8% 4y 61.2%
Eleventh Five year plan intents to incur % of the total plan outlay on social
services.
(1) 10.5% (2) 30.3% (3y 50.8% 4) 61.2%
52. U eRId 2 Tiied WA 5 Wehe A1 O IO o @ wra Aedt 1 eftet 7Ry 10 S = I o\’

WM. WA 2 90,000 TR et ool T ot feht e e ?

(1) 2500 fai (2) 3000 fae (3) 5000 fHAR (4) 4000 R
Water runs into a tank at the rate of 2 litres every 5 seconds and simultaneously runs out
at the rate of 1 litre every 10 seconds. If tank capacity is of 90,000 litres then how much
time it takes to fill the tank ?

(1) 2500 minutes (2) 3000 minutes (3) 5000 minutes (4) 4000 minutes

Hoedl HIOTATS! S0 / SPACE FOR ROUGH WORK
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53, WIETE (OHRAS AMAEwCTHaH as & 2
(1) whl A (2) T i
(3) TR (4) T HIEE A
What is the provision in Indian Constitution about citizenship ?
(1) A single citizenship (2) A double citizenship
(3) Both of these (4) Neither of these
54, IS 99 ¥ 3% 9 o qieAl S9N Solgad A8 9 @ fauie agiet Sued 20 o &
Sl o9 HEl.
(1) 45 (2) 40 (3) 30 (4) 35
Father’s age is equal to sum of mother’s and son’s age and average of ages of all three is
20. Then calculate father’s age.
(1) 45 {2) 40 {3) 30 (4) 35
55. ST 1 YA AWHE TIE B
(1) ¥ (2) & (3) TSR (4) WA TR
Agarkar was under the influence of western writer .
(1) Spencer (2} Rousseau (3) Shakespeare (4) Martin Luther
56. T TRt HHTS 100 8T Teat 1288.55 . A1 T U o T Teael Wedht 1338.45 %,
a1 T faeRe. S Seler i 0.001% e e @ fant fma @ <efat sider m famdaen
Tehell TORT el ?
(1) 3827.25 394 (2) 4827.25 ¥W  (3) 4727.30 T (4) 4527.25 WA
Jignesh bought 100 shares of one company at price Rs. 1288.55 each and on the same day
he sold at price Rs. 1338.45. If broker’s commission is 0.001% on buying amount and
selling amount then how much profit Jignesh got ?
(1) Rs. 3827.25 (2) Rs. 4827.25 {3) Rs. 4727.30 (4) Rs. 4527.25
57. ‘S WIT W WEL € SeeEie il fafee ?

(1) sien mHt (2) SR ST

(3) v B (4) SRR Y

Who has written the autobiography ‘Dreams from my father’ ?
(1) Indira Gandhi (2) Barack Obama
{3) Sheikh Hasina (4) Benazir Bhutto

el HTATATS A / SPACE FOR ROUGH WORK
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58. THIEHT TR Mg Avid 198 foag Suftyd e, w avidie Surterdt 90% STHEATH Wesl T Nt
et faoe et 2
(1) 220 feug (2) 210 g (3) 200 fe== (4) 215 feaq
Ramakant was present on 198 days in School Academic Year. His presentee was 90%.
Find out the number of working days of the school in that year.
(1) 220 days (2) 210 days (3) 200 days (4y 215 days
59. Taurmis famsi Hrvamn oo T o <6 ?
(1) HeFEs (2)  wHTH (3) TEHAl (4) R
Who advices the Governor to dissolve the Legislative Assembly ?
(1)  Chief Minister (2) Prime Minister (3) Home Minister (4) Lokayukta
60. WA FoEd = (AC. =) o wH Fehe™ Je TG
1 10 () 50 (3) 500 4) 100
In India the alternating current (A.C.) changes its direction times within one
second.
(1) 10 (2y 50 (3) 500 4) 100
61. I T FIWN THHT B 7
(1) w> (2) S
(3) farm (4) FERI-TTHRT D
The name Kanu Sanyal is related to :
(I) Sport (2) Bio-technology
(3) Film (4) Peasant Workers Movement
62. = gETEErA A g S F 2
(1) IHIA (2y T qq
(3) AT (4) dayu™
Who appoints the Judges of High Court ? _
(1) Governor (2) President
(3} Chief Minister (4) Prime-Minister
63. W FAT Fefist fagastt qrafdarg e g
(1) & weA (2) v e
(3) Y McFIEy (4) I HWEA
Maharshi Karve was remarried with widow from .
(1) Seva Sadan (2) Sharada Sadan
(3) Anath Balikaashram (4) Mukti Sadan

FHoAl SHIWHIS ST / SPACE FOR ROUGH WORK
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64. MTHRI-TITA R0 Tele WY 3.

(1) Heers (2) Tt (3) Toam (4) T

The Bhakra Nangal dam has been constructed on the river .

(1) Sutlej (@) Ravi (3) Beas (4) Ganga
65. GRieaH! Hond fowhor sTefaamenitE! T@ 2

(1) el (2) VST (3) HrmE (4) TS

Which of the following is not a place of Ashtavinayaka ?

(1) Pali {2) Ranjangaon (3) Morgaon (4) Ganpatipule
66. WAl TR I HET9H FeH vl €17 7

(1) werE M (2) I fees

(3) faesm Tm () A TS

Who among the following was the founder member of Swaraj Party ?

(1) Mahatma Gandhi (2) Lokmanya Tilak

{3) Chittaranjan Das (4) Justice Ranade
67. WA FreA Hewrm sty & HHAW.

(1) oarE T (2) YRA SIS

(3) iRar o (4) YRATS SA9HTT

is the Chair Person of the Planning Commission of India.

(1) President of India (2) Vice-President of India

(3) Finance Minister of India (4) Prime Minister of India
68. WL e WY Hioe fem o ?

1) =M (2 o (3) TR (4) HRR

In which district National Defence Academy is located ?

(1) Thane (2) Pune (3) Nashik (4) Kolhapur
69. ‘TAEA-WR] MR WY 2009 AL WAGAT FHIO W A 7

(1) i (2) = enEs (3) WA (4) W

In which country did the Swine Flu epidemic originate in 2009 ?

(1) France (2) South Africa (3) Japan (4) Mexico

oAl FIIEE ST / SPACE FOR ROUGH WORK
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70.

‘e’ & IUEEH
(1) AL T
(3) T O TSR]

17

T e fetfeea.

(2) Ta=. fFraEs
(4) ST IS

wrote poetry under the penname of ‘Govindagraj’.

(1)  G. N. Dandekar
(3) Ram Ganesh Gadkari

(2) V. V. Shirwadkar
(4) A. R. Deshpande

71. 3TSS GEEAUEH Al B .
(1) 1992 @ 1997 (2) 1990 9 1995
(3) 1991 T 1996 (4) =adierient HIoEE e
Period of Eighth Five Year Plan was .
(1) 1992 to 1997 (2) 1990 to 1995
(3) 1991 to 1996 (4) None of these
245 . , )
2. o= o T FOHR B
(1y 12.25 (2) 1.225 (3) 122.5 (4) 0.1225
Decimal fraction form of 22;405 =
(1y 12.25 (2y 1.225 (3) 122.5 4) 0.1225
73.  HG{ 1 g ufgel HAEH HI19 A ?
(1) <A foas (2)  TITGS TR ST
(3) ST SHRT (4) Sl 9 e e
Who was the first editor of the newspaper ‘Kesari’ 7
(1) Lokamanya Tilak (2) Gopal Ganesh Agarkar
(3) Balshastri Jambhekar (4) Dr. Bhau Daji Lad
74, HEH TE AFEEST SCIRATEIS = IAE B I FHM.

(1) eEes™ YRS (V,05)
(3) FHfewEm FEMAZ (CaCO;)

(2) W sAstETEe (MnO,)
() Taest TEEE (AgNO,)

(1) Vanadium pentoxide (V,O;) (2)

is used as catalyst in the manufacture of sulphur trioxide (50;).
Manganese dioxide (MnO,)

(3) Calcium carbonate (CaCOj) (4) Silver nitrate (AgNO,)

FoedT HIEE! ST/ SPACE FOR ROUGH WORK
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75. 50x 80 x 90="Tedi ?
1 0 2 1
(3) 360 (4) 0 et B AT
50x80x90="7
1 o (2) 1
(3) 360 (4) None of these
76. A SIS Fil X HUETE] T Whic el 2
(1) FHTEr (M) (2) @S
(3) W (4) WerEn
Where did Lala Hardayal established the Gadar Organisation ?
(1} Canada (America) (2) Holand
(3) France (4) Russia
77. O A% 4. Hed A Fedidt geiid qfEe wes g,
(1) 1848 (2)y 1851 (3) 1873 (4) 1883
In Pune, Mahatma Phule was started first school for girls in .
(1) 1848 (2) 1851 (3y 1873 (4) 1883
78. WIS Tfealt Yoo Mt Hag d 319 S09H 3.8, A HF A
(1) 1835 (2) 1850 (3) 1853 (4) 1870
The first Indian Railway train from Mumbai to Thane was started in .
(1) 1835 (2) 1850 (3) 1853 (4) 1870
79, WRIKATET _ foeg a1
1) 26 2) 31 (3) 33 (4) 35
Total districts in Maharashtra are ______ .
(1) 26 (2) 31 (3) 33 (4) 35
80. I FEERT ASSHUA! =1 Tl ' AgEd S Te hivaren i she.
(1) HeE 2 (3) TEH (4) WM™
Dr. Ambedkar decided to burn ‘Manu Smruti” at .
(1) Mahad (2) Pune (3) Pandharpur (4) Satara

ool SHTATETE W / SPACE FOR ROUGH WORK
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81.

19

R (ZﬁxﬁJ+( 25 x6_3)]+(—2x2x2).
13 42 5x 3 35 4x2%16

M 16 2) 16 3) 160 4) 320
78 49 25 63Y] [ 2x2x2

Solve [(1_3 x Zi) " (5>< 3" ﬁ)] N (4x2x16)'

1) 16 @) 1.6 3) 160 @) 320

82,

YR Hfgumren g - gusEet’ 9 Cfraet 7 v e e ERiHal gefas Sear
e ?

(1) 73=H (2) 26=M 3y 42=m 4) e61=

The words ‘Socialist” and "Secular” were incorporated in the Preamble of the Indian

Constitution through which constitutional amendment ?
(1 734 (2) 2¢th (3) 42nd (4) 618t

§3.

HIFR 300 ST7E THETA Qo[ TOUITER S Qevan IRl el Jiasa 4 JahgHa
U . T @ TSHI0m Tt Siett FTel. (e Tgral TarTe 9 1550 H./9.).
(1) 3100 HX (2) 6200 HIZX (3) 24800 e (4) 1550 HieX

Using the SONAR, sound pulses are emitted at the surface of sea water. The echo is
heard after 4 seconds. Find the depth of the sea.

(Velocity of sound in sea water is 1550 m/s).
(1) 3100 m {2) 6200 m (3) 24800 m (4) 1550 m

84.

HAN: 17 20 TS WO 9 HEW: 1 9 10 Herrs wued e v w2

(1) 10.5 2) 5 (3) 55 (4) 10

What is the difference in the averages of numbers from 1 to 20 and numbers from
1to0107

(1) 105 : 2y 5 (3) 5.5 4y 10
§5. WRER T _ i Scien ol
(1) wegH T (2) & e (3) helieh (4) gt
A protein molecule is made up of :
(1) Lipid (2)  Amino acids (3) Carbohydrates (4) Nucleic acids
86. TEN Hd I YRT ThHRHST ' HAae’ T "o IEE S AR TR,
(1) =k (2) ORI (3) W i (4) T TRLE.
Maharshi Karve was honoured as ‘Bharat Ratna’” and * " by Government of
India.

(1) Padmashree (2} Padmabhushan (3) Bharat Mitra 4 LLD

THeeT RTHTHTS JET / SPACE FOR ROUGH WORK
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‘YregTe wE WeA | T TAT Fivil et 2 . :
(1) el foger Tosi e (2) T E R
(3) < IEERE eEHt (4) TEFR Al
Who established the ‘Scheduled Caste Federation’ ?

(1) Maharshi Vitthal Ramaji Shinde {2) Rajarshi Shahu Maharaj
(3) Dr. Babasaheb Ambedkar {4) TRamanand Saraswati

88.

ENLRIE 1 Uei IThE 0 TEUM.

(1) <TFIERI (2) TREHFE (3) IR (4) i
are known as the power houses of the cells.

(1) Lysosomes ' (2) Centrosomes (3) Mitochondria (4) Vacuoles

89,

R 3 RO L i e e | o e | s e e T O e e o e 3 BIT= SAueraaEret 9t TmE
(1) Si. werEs quiE () ¥ fasg wat

(3) Bl g g (4) ST THT A

A committee to study the causes of farmer’s suicide in Maharashtra was formed under
the chairmanship of . ‘

(1) Dr. Bhalchandra Mungekar (2) Dr. Vijay Bhatkar

(3) Dr. Narendra Jadhav (4) Dr. Vasant Gowarikar

90.

Treferie BT TR e a1 HAwER 3 A 2

(1) emEg (2) swran O (3) wwAfEsW (4) gfte
Which of the following is not the example of protozoa ?

(1) Hydra (2) Amoeba (3) Plasmodium (4) "Euglena

91.

1919 w&l sifEe WA faares i Y .

1y fe& : (2) HeIwd -B) H& (4) FR
The All India Khilafat Conference was held at . in 1919,

(1) Delhi (2) Calcutta (3) Bombay (4) Madras

92.

feera FeaITol RS T i et ?

(1) vEeH Tl ' (2) T faga Tt R

(3) El. IERd HideHT. @ ST e TR

Who founded the ‘Bahishkrut Hitakarini Sabha’ ?

(1) Mahatma Phule - (2) Maharshi Vitthal Ramaji Shinde
(3) Dr. Babasaheb Ambedkar (4) Rajarshi Shahu Maharaj

HoeT HIHEIEA 90T / SPACE FOR ROUGH WORK
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93, HETS ATl TR o8 AT hIVKI] THT Y& A ST ?
(1) 349 1923 (2) TH 1925 (3) 3T.H 1926 (4) B9 1927
In which year the “Chavdar Tale Satyagraha” was started in Mahad ? :
(1) 1923 AD. (2) 1925 A.D. (3) 1926 A.D. (4)y 1927 A.D.
94, TFYAYE TSUl-UEErE T HRNSZE TN,
(1) =l-=Argm-viad 2) FrEAEEE
(3) TERX (4) 3Tl
Pre-Monsoon Showers in Maharashtra are known as
(1) Cherry-Blossom-Showers (2) Kalbaisakhi
(3) Norwesters (4) Mango-Showers
95. _____ T fafiies fgE eam
(1) 3HH 2) FTW IR (3) T (4) g
There is a bicameral legislature in .
(1) Assam (2) Uttar Pradesh (3) Punjab (4) Tamilnadu
96. e WL fHerst,
1 = (2) diges (3) s @) i
Find the odd word.
(1) Potatoes (2) Rice (3) Oil seeds (4) Jawar
97. TN feoean FRUFIvET HIvR g9 2, AdAeHRU gE hal T ?
(1) dfesFa yRd (2) ST
(3) FHATTA (4) TEEE
Which of the following newspaper was not started by Dr. Ambedkar ?
(1) Bahishkrit Bharat (2) Janata Patra
(3) Samata Patra (4) Nava Jawan
98. HERHAM HRAWIE daid Hig Te9 2001 FER R,
(1) ¥=wH (2) TR WY
(3) TSTEUHA (4) HAE
Area wise largest State of India (as in 2001) is .
(1) Madhya Pradesh (2) Uttar Pradesh
(3) Rajasthan {4) Karnataka

T THRIATHIS ST / SPACE FOR ROUGH WORK
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99. TR R ST viwarel SR 10 VA 9 = 16 WAL oM. T cund Fenclt oftet gu w2
(1) 2R 2) 15 %= (3) 1.75 @i=X (4) 225 offex
A cylindrical pot has a height of 10 cm and a diameter of 16 cm. How many litres of milk
it can hold ?
(1) 2litres (2) 1.5 litres (3) 1.75 litres (4) 2.25 litres
100. TG SeTEvarET SRR HI0H R 7
(1) T (2) UHETF
(3) TRfoEMm (4) TEHEIIR
Who has the power to call the Gram Sabha ?
(1) Sarpanch (2} Gramsevak
(3) B.D.O. (4) Tahasildar
101. VT UART WIS T FARE & ATHITH THA ST ?
(1) 4°C 2y —4°C (3y ~40°C (4) +40°C
At what temperature °C and °F both has same value ?
(1) 4°C (2) —4°C (3) —40°C (4) +40°C
102. faurady v fdf wewi=t fras we wwam ?
(1) hed Wk
(2) TauEQY= TR TSR ST 1/6
(3) Taurmv=n THv we 9= 1/12
(4) W
How many members can be nominated by the Governor in Legislative Assembly ?
(1) Only one
{2) Ome sixth of the total number of members present in the Assembly
(3)  Ome twelth of the total number of members present in the Assembly
(4) Only twelve
103. faurefiedia wusern sHFe ¥ e,
1) 5 (2) 6 (3) 2% (4) 4%
The term of the member of the Legislative Council is years,
(1) 5 (2) 6 (3) 2% (4) 4%
104. TEMLSR. (LP.G) B ___ ¥ W& SN
(1) Tadw snfur sge (2) TaaT afn g9
3) Tadm amfor g (4) g M7 AR
L.P.G. contains the chemical components .
(1) Methane and Butane (2) Methane and Ethane
(3) Methane and Ethanol {4) Butane and Isobutane

o HTATHIS) ST / SPACE FOR ROUGH WORK
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105. Fofted HRETAE fafora sTesmETEsen faurd argesdie: TSR T T,
1) ¥ (2) o=
(3) Hew @) EER
Leakage of poisonous gas Methyl Isocynide from a factory took lives of thousands at
(1) Bhuj (2) Bhopal
(3) Mumbai (4) Bhuvaneshwar
106. IO A% ' SrcTee TfaEw T8’ HI0N LT i ?
(1) e it $va wd (2) TR TS
(3) RRH SAfaUE Fel (4) FvEs fommamm
Who founded the ‘Balhatya Pratibandhak Gruha” at Pune ?
(1) Maharshi Dhondo Keshav Karve (2) Ramabai Ranade
(3) Mahatma Jyotirao Phule (4) Ishwarchandra Vidyasagar
107. 39 "9 SRR T TEadl YT 59 9E4l.
(1) T (2) H§E (3) WHENIY (4) TS
Coastal region of State receives rainfall due to North-East Monsoon winds.
(1) Goa (2) Punjab (3) Maharashtra (4) Tamilnadu
108, AFEl HgR g9 e EH .
(1) 800 d 1000 (2) 1300 9 1400 (3) 1500 @ 1600 (4) 500 T 600
The weight of human brain is approximately grams.
(1) 800 to 1000  (2) 1300 to 1400  (3) 1500 to 1600  (4) 500 to 600
109. Frefm Uik S9%A 60,000 TN THLTY. 8.5 TH ThaAR =AH 2 auiER] Tafam, @

fafermmen SFwgt qEaE Rt Teem faga?
(1) 704335 %FM™@  (2) 70,200 ¥ (3) 70,9335 %F9F  (4) 70,633.5 T

Nilima invested Rs. 60,000 in a nationalised bank for 2 years at the rate of 8.5 p-c. p.a. at
compound interest. What amount will Nilima receive from the bank at the end of
2 years ? '

(1) Rs. 70,4335  (2) Rs. 70,200 (3) Rs. 70,9335  (4) Rs. 70,6335

Tl SRIHTETS AT / SPACE FOR ROUGH WORK
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T WIS Ut I 1ol ere, famET TR Jieed) ?

1)y 29 (2) 9O 30 WHIAE (3 &R (4) w-EW
What is the name of fighter aircraft that President Pratibha Patil has flown ?
(1) Mig 29 (2)  Sukhot 30 MKI (3) Jaguar (4) C-Harrier

111.

TG o TGS HT STHA F8A T STEased 107 Jusdl ?
(1) w" (2) SIET (3) UHHIE (4) wWTH=

Who convenes the meeting of the Gram Panchayat and the Gram Sabha and presides
over them ?

(1) Sarpanch (2) Deputy Sarpanch (3) Gramsevak (4) Member
112, ‘&G fefan wa’ & shoon ioft foedt ?

(1) TofaR e (2) A TwE

(3) wEreH it (4) wfEHeg Hesit

Who gave the slogan ‘Do or Die’ 7

(1) Rashbihari Bose (2) Motilal Nehru

(3) Mahatma Gandhi (4) Bankimchandra Chatterjee
113, 9Hed Higen wEa fadas™ Fivi faly Fer?

(1) 9 S (2) feraEm

(3) g WA 9% (4) TR Y ya

Who had opposed the woman reservation bill in Parliament ?

(1) Bharatiya Janata Party {2) Shiv Sena

(3) Bahujan Samaj Party (4) Nationalist Congress Party
114. ¥fefew B & Tl

(1) HAV (2) HIV (3) HBV (4)  ATAHT HIORE AR

Hepatitis Bis caused by ____ .

(1) HAV (2) HIV (3) HBV (4) None of the above
115. YRAW Wefid oA W _____ A% Tl

(1) i (2) wEER (3) wRIgS (4) W

receives highest rainfall in India.
(1) Konkan (2) Malbar (3) Cherapunji 4) Gujrat

el HIHS AT / SPACE FOR ROUGH WORK
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116. UeEvdi=a faf e o= FHEY B,

1) wEe S TR 9 ISR T e

(2) HEZE R T A TS fasmE

3) TR IR 9 T faETET

() HERsr I TR 9 T g

Who is contained in the President’s electoral college 7

(1)  Both the houses of Parliaments and all Legislatures of the States
2) Both the houses of Parliaments and Legislative assemblies
3

) Only Lok Sabha and Legislative assemblies
4) Both the houses of Parliaments and State Councils

(
(
(

117, ST ST GA9HE Y ST A7 YA e |y ?

(1) omam fem (2) SN < HerTerRe we

(3) wiTen <% foae urd (4) SHE-3-3=TH

What is the name of the party of Bangladesh Prime Minister Sheikh Hasina ?
(1)  Awami Ligue (2) Bangladesh Nationalist Party
(3) Bangladesh People Party (4) Jamat-e-Islami

118. WA ForE fTe afFER SR 2008 T8 TG TSThI 987 T el 7

(1) TSI (2) TfE (3) HEA BHA (4) Teishst
Who among the following film actors established a new political party in August 2008 ?
(1) Rajnikant (2) Govinda (3) Kamal Hassan (4) Chiranjeevi

119. WRTE TR Heled SEH SIeTUHT A STSAE HE B ?

(1) SR (2) e (3) A (4) RN
What was the surname of famous ‘Tamasha’ artist Chandrakant Dhawalpurikar ?
(1) Belhekar (2) Jadhav (3) Kadam (4) Mohite

120. EEAAYH T SHicTaTs YH AE 75 ?

(1) s (2) WE R (T 9)
(3 3 (4

Which of the following contains more proportion of calcium ?

(1) Pulses (2) Vegetable Oil

(3) Milk (4) Orange

He HIUES M / SPACE FOR ROUGH WORK
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121, AERTEE! HiFHFN SGUaTE HT FE 2
(1) T HEEE 9 AT Je e
(2) Hfgare Srom=an AEH
(3) SFTdehieRA0 o IR
(4) HEER
What is the reason for increase in judicial activism ?
(1) The growth of population and courts
{2) Public interest litigations
{3) Globalizations and liberalization
(4) Corruption
122. S 1908 9+ WA Teageniaiiel Weears GAEv @, w@&el een Hewn furd S ¥y

qhITE 7

(1) HeEmeie HEma-T (2) IO AefieT HIOTRT

(3) wHerH YA BT (4) e Y=t o A

Who has started the strike against Court decision in case of Lokmanya Tilak’s imprisonment
in June 1908 ?

(1) The workers of Bombay (2) The workers of Poona

(3) The workers of Calcutta {4) None of them

123, HiF9 FFIRUEET HI THEH 1 TG ?

(1) et & 2) TR (3) =St 7= (4) e g

Which type of soil is observed on the coastal region of Konkan ?

(1) Alluvial soil {2) Regur soil {3) Redsoil (4) Black soil
124, HHIS S SATYIYAHL wlAEE S ST TAg ST

(1) = afer (2) < A (3) TeafEA (4) 9 AE

Maximum gap between two sessions of Parliament can be of .

(1) three months (2) two months (3) six months {4) twelve months
125, ‘TR S = e 0 .

(1) 1906 (2) 1908 (3) 1909 (4) 1919

“The Muslim League’ was founded in the year .

(1) 1906 (2) 1908 (3) 1909 (4) 1919
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126. SW (3, m) & f9g 3x+ 5y =29 1 GHHMH THAEE FE T m= )
1y -4 @) +4 @) +3 (a4 -3
If (3, m) satisfy the equation 3x + 5y =29 the value of m= .
L -4 (2y +4 3 +3 4) -3
127, HEH &d A= S TTET Sear RIRIEIC
(1) et (2) HEs (3) @t (4) HWs
Maharshi Karve was born in the village of Ratnagiri District.
(1) Dapoli (2) Murud (3) Shekhali (4) Khed
128. ST V&S HEATHH v € ?
(1) YRR gaaS (2) IeTSeEH faes
(3) Taehex wedt (4) Senfew <t
Who was the founder of the city of Agra ?
{1} Mohammad Tughlaq (2}  Alauddin Khilji
(3) Sikandar Lodhi (4) Ibrahim Lodhi
129, T SR T TR TE Fe
(1) TmreY (2) ATHER
(3) v (4) YU
G. G. Agarkar had started Newspaper.
(1) Dnyanasindhu (2) Dnyanaprakash
(3) Shatapatre (4) Sudharak
130. 15 WA fHH 16,500/~ F. R T, 11 TIHA=! ST Fal.
(1) 12,200/- % (2) 12,100/- %. (3) 13,000/- ®. (4) 12,400/- =
The cost of 15 cycles is Rs, 16,500/-. Find the cost of 11 cycles :
(1} Rs. 12,200/- (2) Rs. 12,100/- (3) Rs. 13,000/- {4) Rs. 12,400/-
131, i TR B SN TR,
(1) HA<HE T (2) YeIEeA AT
(3) TEEAT STUERAM (4) YeTEeATe e st
The modern periodic table is based on .
(1) the principle of octaves (2) the atomic number of elements
{(3) the atomic mass of elements (4) the presence of triods of elements
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132, = ARSHUA Mot wREed = ATt .
(1) TS TEaENEH (2) ARYW
3y wr-farem (4) T vow
Dr. Ambedkar demanded for in Round Table Conference.
(1) Separate electorate (2} Reservation
(3) Education for women (4) Temple Entry
133. 5.9. 1899 WLl 3TATY WfcTergHrEl T T AL
(1) wer G (2) WEHERIS
(3) St Hyra HA (4) TIANHRE MRS
In 1899 A.D. started ‘Anatha Balikashram’.
(1) Mahatma Phule (2) Shahu Maharaj
(3) Dhondo Keshav Karve (4) Sayajirao Gaikawad
134. ‘YRE TiH Wosle? TERR 2007 " 0N FEH FHI0GT ST ?
(1) sAiyTa fagn (2) TATE Hr
(3) st first (4) @faT dgeet
Who was given “Rajiv Gandhi Khel Ratna Award 2007” ?
(1) Abhinav Bindra (2) M. S. Dhoni
(3) Sania Mirza i (4) Sachin Tendulkar
135. ‘ST - I 1 SquiRETE Yool fhdt g ?
(1) 3500 f.HL. (2) 5000 f.Hi. (3) 3000 Tem.. (4) 2000 T4,
What is the range of Agni - III ballistic missile ?
(1) 3500 km (2) 5000 km {3) 3000 km (4) 2000 km

136,

2 1 T e wenerE wre S gl g a2
(1) WM 2) ¥ (3) it (4)

fadtan

Hamas is a militant organisation fighting against which of the following countries ?

{1) Sudan (2) Israel (3) Brazil (4)

Syria
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137.
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HEET R ey 9% HI0d 9= o et ?

(1) Tofideam sEdsRt dew frafm s

(2) wHHN HeoM faiHes frifm w1

(3) FHRH W™ FrHges i w

@) —EvEem fadves fafm +@ ]

What is contained in a parliamentary form of government_?
(1) The Executive controls the legislature

(2) The Legislature controls the executive

(3) The Judiciary controls the executive
(4) The Legislature controls the judiciary

NABARD % TR,

138. :
1) =g @ d® . @ =@ (2) fawm
NABARD is a . :
(1) Board (2) Bank ~ (3) Bureau (4) Department
139. YHETRITO TRA FETSTaeTaES o i A =y deA TR BT
1) R (2) WEREEGEY (3 TAZRA 4) TEgEH
In photosynthesis, water and carbon dioxide combine to form .
(1) Carbon (2) Carbohydrates (3) Nitrogen (4) Hydrogen
140, ‘amere féx e’ Cqivi TOR' A o WTE w0 S
(1) ol et wEEeE \ 2) WS g
(3) vt S (4) TS Ig2ER
Who was the commander of a battalion ‘Rani of Jhansi’ in Azad Hind Sena ?
- (1) Dr. Lakshmi Swaminathan (2) Sarojini Naidu
(3) Shanti Ghosh (4) DPritilata Waddedar
141, grear 20 _
) 2.5
(1) 140.2 (2) 14.02 (3) 1402 4) 3.2
Solve B0 _
(1) 140.2 (2) 14.02 (3) 1402 4 32
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7oy ¢ Faver fHaRRSE HeorEl’ T S wE wd TiH1 e,
(1) 3.9. 1873 (2) 3.9 1887 (3) %9 1893 (4) 3.9 1899

In Dhondo Keshav Karve started ‘Vidhava Vivahottejak Mandal'.
(1) 1873 AD (2) 1887 AD (3) 1893 AD (4) 1899 AD

143,

_ ® verwre stfers fagm e o
(1) == 2) TS (3) SEHaTE! (4) TR
is a thermal power station in Maharashtra.
(1) Trombay (2) Dabhol (3) Jayakwadi (4) Tarapur

144.

Tefertet ffafefa s = 93 HIow ?
(1) H-C=C-H (2) H-C=C-H
H_ H E
@ c=c (4) H- ‘ ~H
H
Which is the structural formula of Acetylene ? _
{), H-C=C-H (2y H-C=C-H
i
N _ 7 Y-
(3) _C=C__ 4 H-C-H

|
H H H

145.

‘ol SRR el gfgg e
(1) "= - 1858 (2) fed= - 1885
(3) SRR - 1905 (4) TR - 1947
The ‘Queen’s Proclamation” was declared in

(1) November - 1858 (2) December - 1885
{3) October - 1905 (4) August - 1947

146.

ST TR YA B AT
1) wH 2 ¥ (3) 99 (4) fafa smm

Sound wave do not travel through .
(1) Solids {2) Liquids (3) Gases (4) Vacuum
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147, GATIR! RS I9ET WO ST SaEet 5 ?

(1) <SiE (2) S favEY

(3)  SeBISt TSI i (4) TS

Who among the following Peshwa’s was popularly known as a Nanasaheb ?
(1) Baji Rao (2) Balaji Vishwanath

(3) Balaji Baji Rao (4) Raghunath Rao

148. TEfedsh! HIVE F<t HERIER TYTase T,

(1) (2) iemH (3) Fem (4)  sffmm

Which of the following rivers in Maharashtra is flowing westward ?

(1) Tapi (2) Godavari (3) Krishna {4} Bhima
149. 9RAT=AT UHU JIoIH! T Yo SAIEE! STHU VIR R,

(1) 32 (2y 30 (3) 31 4y 33

Out of total area of India, it is necessary to have per cent area under forest.

(1) 32 (2) 30 (3 31 4y 33
150. st f-avomEn fasi 7+t Argen.

(1) < s (2) O e

(3) T & v @) AL T

The exponent of Economic Drain Theory was :

(1) Dadabhai Naoroji (2) Ganesh Joshi

(3) Gopal Hari Deshmukh (4) M.G. Ranade

-olo-
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